This is CS50



data structures



abstract data types



queues



FIFO



enqueue
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const int CAPACITY = 50;

typedef struct

{
person people[CAPACITY];
int size;

} queue;



stacks



LIFO



push

pPop



const int CAPACITY = 50;

typedef struct

{
person people[CAPACITY];
int size;

} stack;





http://www.youtube.com/watch?v=2wM6_PuBIxY
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typedef struct
{
string name;
string number;
} person;



typedef struct
{
char *name;
char *number;
} person;



typedef struct
{

} person;



typedef struct
{

} node;



typedef struct
{

int number;

} node;



typedef struct
{
int number;
node *next;
} node;



typedef struct node
{
int number;
node *next;
} node;



typedef struct node
{

int number;

struct node *next;
} node;
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node *1ist = NULL;
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node *1ist = NULL;
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node *n = malloc(sizeof(node));
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node *n = malloc(sizeof(node));
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n->next = list;
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n->next = list;
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binary search trees





















typedef struct node
{

int number;

struct node *next;
} node;



typedef struct node
{

int number;

} node;



typedef struct node
{

int number;

} node;



typedef struct node
{
int number;
struct node *left;
struct node *right;
} node;






bool search(node *tree, int number)

{



bool search(node *tree, int number)

{
if (tree == NULL)

{

return false;



bool search(node *tree, int number)

{
if (tree == NULL)

{

return false;

}

else if (number < tree->number)

{

return search(tree->left, number);



bool search(node *tree, int number)

{
if (tree == NULL)

{

return false;

}

else if (number < tree->number)

{

return search(tree->left, number);

}

else if (number > tree->number)

{

return search(tree->right, number);



bool search(node *tree, int number)

{
if (tree == NULL)

{

return false;

}

else if (number < tree->number)

{

return search(tree->left, number);

}

else if (number > tree->number)

{

return search(tree->right, number);

}
else if (number == tree->number)
{
return true;
}



bool search(node *tree, int number)

{
if (tree == NULL)

{

return false;

}

else if (number < tree->number)

{

return search(tree->left, number);

}

else if (number > tree->number)

{

return search(tree->right, number);

}

else

{

return true;
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hashing



hash function



hash tables
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typedef struct
{
char *name;
char *number;
} person;



typedef struct node
{
char *name;
char *number;
struct node *next;
} node;



node *table[26];
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#include <ctype.h>

int hash(char *word)

{
return toupper(word[@]) - 'A';



#include <ctype.h>

int hash(const char *word)

{
return toupper(word[@]) - 'A';



#include <ctype.h>

unsigned int hash(const char *word)

{
return toupper(word[@]) - 'A';
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typedef struct node

{
struct node *children[26];

char *number;
} node;



nhode *trie;
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